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1 Describe the (classical) vibration of a diatomic molecule. What are the
symmetries and principles of nature we should use to constrain S?
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2 Use e↵ective theory arguments to find S for weakly perturbed motion.
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3 Describe the resulting dynamics of a harmonic oscillator.oenfi.IE#L=Ca2tHci2o=8ggIw-¥-dat'¥
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4 Give a careful scaling argument which justifies neglecting corrections to
our e↵ective theory of the harmonic oscillator.

Self- consistent? [mandates 41+20...]
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5 Generalize the harmonic oscillator to higher dimensional problems,
assuming time-reversal symmetry.
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